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ASSIGNMENT

The figures in the margin indicate full marks.
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1. How equilibrium level of national income is determined in simple Keynesian 20

model? Explain.
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2. (a) What do you mean by full employment? 4+16
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(b) Discuss critically the classical theory of employment.
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3. Discuss the Cambridge version of the Quantity Theory of Money and distinguish 20
it from the Fisherian version.
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4. Explain the neo-classical Loanable Funds Theory of interest. 20
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Answer any fwo questions 10x2 =20
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5. (a) What is investment multiplier? 4+6
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(b) Explain how multiplier is related to marginal propensity to consume.
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6. Write a note on marginal efficiency of capital. 10
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7. (a) Explain the concepts of Gross National Product (GNP) and Net National Product 4+6
(NNP).
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(b) Explain the value added method of measuring national income.
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8. Write a note on Say’s Law of Market. 10
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